( y2)2
4xy?)?+oOx( = 9]
3x2
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y )*6 5
X
vel |

©
5x°
o 2
X
y
®
3x3y2



2. (2x-3)(2x+y-3)= AT A2?

® 4x>-6x-3y+6 @ 4x% -12x+2xy -3y +6
® 4x> - 12x+2xy -3y +9 @ 4x®> -12x +6xy -3y +9

® 4x> - 12x+4xy -3y +9



3. 0.15-0.0382 AXISE] A2 LERH 229

@® 0.117 @ 0.105 ® 0.115 @ 0.106 ® 0.116



@® 9a°p* @ 6a*p? ® -9a°p*

@ —6a’b? ® 6ab?










® 1.06

@ 1.66

® 1.606



a+2)

1
2

a2:12,b2:18<grq1,(

8.



9. A= (24a*® - 12a°b*)+(-2a%b)?, B = (8a>b* — 4a®b?)+(-ab)* &
o, A - (B +3C) = ab® + 1& W=t 4 €& F519H?

O C=b-2ab%-1 @ C=0b%-4ab? -2
@ C=20%-ab®-1 @ C =203 —4ab® + 1

® C=b*-ab®>-4



10.

1 1
241 -—3
a+b

[}
=

o,

a+3ab+b

a—-ab+b

o ghe?



11. a+b+c=1,a>+b2+c2=

=+ -+ - =19 1, abc o] FF2?
a b ¢

. 1
@ -1 @—5 @ - @‘1 @_5



@ 29 ® 30 @ 31 ® 32

O 28



, 3.05 % 0.45 =

7
a

0.34-0.1 =

13.

AL?

® 1.3 ® 14 @ 15 ® 1.6

@D 1.2






ol

ol

™ ™
RN

%

+

+



